Problem 8.19

Write the mesh equations for the network shown in Figure P8.19
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Figure P8.19


Suggested Solution
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Induced voltages (positive @ dot)



IN       VIA     EXPRESION     NAME

L

1

        M

1



j

w

M

1

(I

3

 - I

2

)      V

11

L

1

        M

3



j

w

M

1

(I

3

 - I

1

)      V

13

L

2

        M

1



j

w

M

1

(I

1

 - I

2

)      V

21

L

2

        M

2



j

w

M

1

(I

3

 - I

1

)      V

22

L

3

        M

2



j

w

M

1

(I

3

 - I

2

)      V

32

L

3

        M

3



j

w

M

1

(I

1

 - I

2

)      V

33

Mesh equations
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Substituting from the table above:
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